BHN2FE HEHNEVERRAN-YDST FEFE

& Bes | #0 ® B 2 13 GENS

1] 58 13 8| % MR - AORE AGEEERSEE

2| 58 27 8| X 559y kI SEDRER | o b=t
3 6 H 10 x (DD—:'JJ\/_D?\-H;\?gy\yD—%) AGFE%%?E% .

4| 68 24 8| K TPOED2 AGEEERSEE

5| 78 88| K FREE BBl

6| 78 228 K FIPEDR el e

7| 98 98| % 2DIPAT YT AGEEERISE

8| 98 238| K IR AGEEERSE

9|10 A 14 B X IR AGEEERISE

13[12 8 98| % 559Y kI SEDIER | Wi L=
14| 18 13 8| % I3 =052 AGEEEREE

15| 18 27 B % R L—=>2 AGEEERSE

16| 28 108| X | (S s | Canem

17| 2 8 24 8| % =3 AGEEERSE

18| 38 10 B| % BRI - MBS AGEEERSE




